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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION,

MARCH 2022
Part — 111 Time : 2 Hours
COMPUTER APPLICATION  Cool-off time : 15 Minutes
(COMMERCE)

Maximum : 60 Scores

=

General Instructions to Candidates :

® There is a “‘Cool-off time” of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
A. Answer any 5 questions from 1 to 9. Each carries 1 score, (5x1=5)
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is an example of exit controlled loop.

What is the size of array in the following C++ declaration statement ?
int num[10];

What will be the output of the following C++ statement ?
cout<<strlen(“Welcome”);

Write the keyword used to declare a variable in JavaScript.
Give one example for FTP client software.
The person who is responsible for controlling Database is

Which of the following is not a DBMS package ?

(i) ORACLE
(i) SQL Server
(i) MySQL
(iv) HTML

Write an example for ERP package.

is a technology used to send multimedia data using mobile phones.

Answer all questions from 10 to 13. Each carries 1 score.
is a library function that helps us to terminate a C++ program.

Write the full form of HTTP.
What is a nested list ?
In DBMS, storing of same data in multiple locations is called

PART - 11
Answer any 2 questions from 14 to 17. Each carries 2 scores.
What is array traversal ? Give one example.

Write down the names of any two web hosting methods.
What is meant by constraints ? Give one example.

Explain any two benefits of ERP.
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I m@@d 9 awo aanaysmglod Bommlele 5 aggponin’ gamoene)mm.
1 cpod alla. (5x1=5)
R HBESIUB Lol BB) PRINOBEMNIET’

@OO® HAISITINHAS C++ awlgaoaum eINROAFo3 AREOW)OS size a6 ?
int num([10];

@Y alomam C++ equadanilang amgallg agamosm'?
cout<<strlen(“Welcome™);

RVl IFI® Q) el Woad 621Q0maa Gleadan ageim .
FTP @0 cnuoagonicim) 60) 969a006Mo ag)e)m)d.
avdgacaulom mlEmlaanmm @yl @RyE).

@Y OB MW@ DBMS a10c006 apg0om@ aga ?
(i) ORACLE

(1)  SQL Server

(1)  MySQL

(iv) HTML

ERP a10ca98M 80} 96820006Mo f)9)o)d.
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10 2)@3 13 QIO af)glo C213BEM 0 AODAOAL;®). 1 6apod allme..

4x1=4)
80) C++  c@owde @rAITVITlalaedd mezd dquancdlesmm  eeelEnIdl
aDoUiaH MM

HTTP @165 n1)@em @)alto af)9))d.

OMARW 2T af) MOWB af)amOaT ?

DBMS-a@8, aco awog ssanleiwldoe quneiamngled mueedlasmmalam ag)am’
afigles)m,.
PART - 11
14 aymad 17 aoo 6a1983Bgled agomslels 2 agpomim DoMEOAY®]d.
2 capad allao. ' 2x2=4)

a@)THOEM @REO (S96HUABTV@ ? B30) PAANDEMo af) 9@}
ABO@BIEN0 VENE O CGa0oqloU) GlONDHB)OS Gal®HUB a)h)m@.
Constraints af)aMO@3 af)as) ? B0} DBIANDEMo nf)PI®)d.

ERP @)0S aomeslesjo 0e 0 jemmud afluodledlee)s.
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Answer any 2 questions from 18 to 20. Each carries 2 scores. (2x2=4)

Give names of two parameter passing techniques in C-++.
What is Content Managements System (CMS) ? Write one example.
Using example, explain the use of ORDER BY Clause of SELECT command.

PART - 111

Answer any 3 questions from 21 to 24, Each carries 3 scores. 3x3=

Write the names of any three fundamental data types in C-++,
Compare static and dynamic web pages.

Write the data types of following values in JavaScript ?
(1)  true

(n) =300

(1i1)  *“*School™

Name any three fundamental operations in Relational Algebra. Give their symbols also.

9)

Answer any 2 questions from 25 to 27. Each carries 3 scores. 2x3=6)

Compare break and continue statements in C++.

Read the following statements :
char name[20];
cin>>name;
cout<<name;
(i)  What will be the output if you input the string “Sachin Tendulkar™ ?

(ii)  Justify your answer.

Write port numbers for the following services :
(i) HTTP

(i)) SMTP

(iii) DNS

PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 scores. 3x4=

What is token in C++ ? Name any three tokens.
List any four built in functions in C++.
Which are essential tags of HTML ?

(a) is an attribute of <SCRIPT> tag. .
(b)  Write the built in functions in JavaScript for the following :
(i) to display a message on screen.

(ii) to convert uppercase to lowercase.

(iii) to find the character at a particular position.
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18.  C++ @8 and’a10000l1gB a 1o flot) OSHTIN9 0GOS BalD)UD M@,
19 ammoem @omeqf a0emeinaqd miquo (CMS) ? 60} A0a0EMo af)@)m)d.
20. @mdaneeMo Dalawoufly), SELECT @aodaslend ORDER BY agpan clause
9a1a0UIMNM@ ANVl oe):.
PART - I
A. 1l mOad 24 Ao caloaEnglad apeomslel. 3 AGPOTIN DTDOHDE ).
3 capod alla.. 3x3=9)
21, C++ @3 288 nom®ene 2)a @RSITu0om ALIgo OOSA|hBINS GalO)hUB af)$)m)d.
22, @Rodias, HOALMIRN OIS GaIER)HUB MOO®DYo Halgd.
23.  JavaScript-@d @oew mb@;«nm@gs}s AIQOOSAIBDHUB g)#)D)>.
(1) true (i) -300 (iii) “School”
24. oleBlauem@d @RKlEICloe) aBO®BILNe MM @RSITOOM  (alaIBEDMENE)OS
CGal@ MDY, RAIDOS aflaMEMB)o M)
B. 25 )@@ 27 oo cansyemgl@d agomsilens 2 aggpomio’ 20moeny)m)@.
3 capod alle. (2x3=6)
25. C++-@3 break, continue ag)a GINFODFISHUD ®OODA Yo 621G
26. @269 ]0W)MM CIRGODAB)AHUB QOB :
char name[20];
cin>>name;
cout<<name,
(i) ~ “Sachin Tendulkar” agyam (lovy MABBIWI@ af)DOVA@IEN)0 BDGALG ? (1)
(i) MBBBOS DATMO TVIW)BBIBND. )
27.  @29%aj0W)AM CILAIMENUBHNIV] 988 Calddg MMINE:UD )9} : 3)
(i) HTTP (i) SMTP (iiiy DNS
PART -1V
A. 28 a)o@d 31 o0 ca6iEnglal agemsslele 3 agaROTIn’ 2NN ®)eé:.
4 capad afloo. ' (Bx4=12)
8. Ci+ @3 as00961m ag)aIMOMm3 afl TN ? aBEXmEsIEle )TN ESOSOMBBNS Gal® M)
29. C++ @B agomerlelo 4 eniladg DB alolaHMBHUB ag)$)®)d:.
30. HTML-o0 @paivnl Sou)dU8 aBemoada@aem ?
31. (8 _____ oganay<SCRIPT> souflong &) @mySlniyg @ryem. (1)
(b)  Mlojo@)maugnoal JavaScript-03 988 milG3G-EDM8 ANWaHMBUB ag)9)m )@ :
() @I 8oy Mmoo (BBl flonoad. (1)
(1) el memos 64 16lw @REUOOBIGEIHE BIQO. (1)
(i) 8} (UEO LB TUOOMOD PBB BIRYUBo BEEBOMMNIY, (1)
ME-546 5 R.IT.O,
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Answer any 1 questions from 32 and 33. Carries 4 scores. (1x4=4)

=

Write down the uses of following tags :
(i) <SELECT>
(ii) <FIELDSET>

- L
)

33.  Write short note on any two examples of Cyber Crimes against individuals.

PART -V
Answer any 2 questions from 34 to 36. Each carries 6 scores. 2x6=12)
34.  Write the HTML code to generate the following table :
Roll Name Class
100 AB C2
101 PQ 54
102 XY Al
(a) Define the following terms of RDBMS : @
(1)  Tuple

(11) Relation
(u1) Degree
(iv) Cardinality

(b)  Write down the Degree and Cardinality of the following relation : (2)
Regno Name Mark
101 Sachin 380 |
103 Fathima 420
106 Bincy 400
108 Joseph 350
36. (a) Pick the odd one out from the following : Given reason also. 2)
(i) CREATE

(i) SELECT
(iii) UPDATE
(iv) DELETE
(b) Consider the given relation ITEMS.

TTLI11ANSSSSSm—————L.TTITLAAAAABOTTNTTTT IR o
:)‘I

Itemcode | Name Price
001 Pencil 8.00
002 Pen 10.00
003 Notebook | 15.00
004 Pen 12.00
(i)  Suggest a suitable primary key for the above relation. Give reason. (2)
(i) Write SQL statement to list all the items in the table. (1)
* (ili) Write SQL statement to list itemcode and name of all items. (1)

6




i A AT Y 3 R R e

XX == = iyl A bV Y 1
B. 32 m®ad 33 awo asoayemglal oROMMICYe  AHAGROTIM RODODDE®) ).
4 capod. (1x4=4)
32 @360 0@ SONNDBINS Do 1GOOI ) PITND, |
() <SELECT>
(11)  <FIELDSET>
33, AOMaBoeomorw  eeauamid DQOADNGAB  apeOmDIE)s mmmemmmgg’l
021010 @)0la] 0 V). U
PART -V
3 a3 36 ae G203 \MmIA aO®®BIeIe 2 oRAPOIIM OO DL
6 capaad aila.. (2x6=12)
34 @26¢ 6B Ig e a§léd L9900 988 HTML CHOW )P :
| Roll _ [Name | Class
| 100 AB &
| 101 PQ Cl
| 102 | XY Al
35. (a)  anes exos)omilclanam RDBMS el aisandd MBQ)a e : (4)
(1) Tuple (11) Relation
(1i1) Degree {iv) Cardinality
(b)  @oev mavilaleman dlceisand auluila)o »odalimoeligla)e afeyme: : 2)
Regno Name Mark
101 Sachin 380
103 Fathima 420
106 Bincy 400
108 Joseph 350
(1) @ TNEB ORISIBIMDY af)SIOTTNEID)D. Bajo BIVEMo a)$)MBDe HaIQdh.  (2)
(i) CREATE (ii) SELECT
(ili) UPDATE (iv) DELETE
(b)  mRBslIclanrm cleeiauad ITEMS aidlnemlas)d.
Itemcode | Name Price -
001 Pencil 8.00
002 Pen 10.00
003 Notebook | 15.00
004 Pen 12.00 .
Mglee mg’l@ggj’ @RM)GOOTYAO@ B0) primary key MIAEIUOI09) .
«ﬁ;i)(bm')o n@(yg@g‘a). y (2)
(1) algloipg af)EJO EMEMB)o eflguiealgimolm’ 9o SQL oqugeoay
af)P) ), (1)
(iii) itemriodc 2 Qe OHMENBOSW)o Gald) elqy oalgom 088 SQL 1
CARROAG o)), )
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